
Economics 5250/6250 Dr. Lozada
Fall 2012 Final Exam

This exam has 67 points. There are seven questions on the
exam; you should work all of them. Each question is worth either
9 or 10 points each.

Put your answers to the exam in a blue book or on blank
sheets of paper. The figure for the exam appears after the ques-
tions.

Answer the questions using as much precision and detail as the
time allows. Correct answers which are unsupported by explana-
tions will not be awarded points. Therefore, even if you think
something is “obvious,” do not omit it. If you omit anything,
you will not get credit for it. You get credit for nothing which
does not explicitly appear in your answer. If you have questions
about the adequacy of an explanation of yours during the exam,
ask me.



Answer all of the following questions.

1. [10 points] In the chapter on fisheries, I described why “more [fishing]
effort does not always yield more fish [in the steady state].” Prove that
this is true by using (in part) a graph with steady-state stock size on
the horizontal axis. On this graph, draw the “F (x) function” (the
excess of births over natural deaths), and draw “harvest versus stock
size holding effort fixed.”

2. [10 points] Suppose an exhaustible resource industry follows the
Hotelling Rule. Contrast the price path of the resource in two worlds,
the first with a high interest rate and the second with a lower one.
Explain your answer.

3. [9 points] Your textbook says, “Blanket recommendations that common-
property regimes be replaced by privatised ones are simplistic.” (In
U.S. English we would write “privatized” not “privatised.”) Why does
the book say this?

4. [9 points] In his Nobel Prize lecture (see http://www.nobelprize.

org/nobel_prizes/economics/laureates/1991/coase-lecture.html),
Ronald Coase first discusses the background to his first seminal paper,
“The Nature of the Firm” (1937):

The view of the pricing system as a co-ordinating mecha-
nism was clearly right but there were aspects of the argument
which troubled me [in 1931]. [My former professor Arnold]
Plant was opposed to all schemes, then very fashionable dur-
ing the Great Depression, for the co-ordination of industrial
production by some form of planning. Competition, accord-
ing to Plant, acting through a system of prices, would do
all the co-ordination necessary. And yet we had a factor of
production, management, whose function was to co-ordinate.
Why was it needed if the pricing system provided all the co-
ordination necessary? The same problem presented itself to
me at that time in another guise. The Russian Revolution
had taken place only fourteen years earlier. We knew then
very little about how planning would actually be carried out
in a communist system. Lenin had said that the economic
system in Russia would be run as one big factory. However,
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many economists in the West maintained that this was an
impossibility. And yet there were factories in the West and
some of them were extremely large. How did one reconcile
the views expressed by economists on the role of the pricing
system and the impossibility of successful central economic
planning with the existence of management and of these ap-
parently planned societies, firms, operating within our own
economy?

I found the answer by the summer of 1932. It was to
realise that there were costs of using the pricing mechanism.
What the prices are has to be discovered. There are nego-
tiations to be undertaken, contracts have to be drawn up,
inspections have to be made, arrangements have to be made
to settle disputes, and so on. These costs have come to
be known as transaction costs. Their existence implies that
methods of co-ordination, alternative to the market, which
are themselves costly and in various ways imperfect, may
nonetheless be preferable to relying on the pricing mecha-
nism, the only method of co-ordination normally analysed
by economists. It was avoidance of the costs of carrying out
transactions through the market that could explain the ex-
istence of the firm in which the allocation of factors came
about as a result of administrative decisions (and I thought
it did).

Then he discusses his other famous paper, “The Problem of Social
Cost” (1960):

[. . . ] Pigou’s conclusion and that of most economists using
standard economic theory was, and perhaps still is, that some
kind of government action (usually the imposition of taxes)
was required to restrain those whose actions had harmful ef-
fects on others, often termed negative externalities. What I
showed in that article, as I thought, was that in a regime of
zero transaction costs, an assumption of standard economic
theory, negotiations between the parties would lead to those
arrangements being made which would maximise wealth and
this irrespective of the initial assignment of rights. This is the
infamous Coase Theorem, named and formulated by Stigler,
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although it is based on work of mine. [. . . ] I tend to regard
the Coase Theorem as a stepping stone on the way to an
analysis of an economy with positive transaction costs. The
significance to me of the Coase Theorem is that it under-
mines the Pigovian system. Since standard economic theory
assumes transaction costs to be zero, the Coase Theorem
demonstrates that the Pigovian solutions are unnecessary
in these circumstances. Of course, it does not imply, when
transaction costs are positive, that government actions (such
as government operation, regulation or taxation, including
subsidies) could not produce a better result than relying on
negotiations between individuals in the market. Whether
this would be so could be discovered not by studying imag-
inary governments but what real governments actually do.
My conclusion; let us study the world of positive transaction
costs.

(a) Discuss these passages in light of the way “free market economists”
(or “conservative economists”) sometimes present the Coase The-
orem.

(b) Would Coase think asymmetric information could seriously limit
bargaining, as in the Dilbert cartoon of Figure 1?

5. [10 points] Graphically illustrate the difference between “willingness
to pay” and “willingness to accept” for one consumer. Put “environ-
mental good” on the horizontal axis and “other commodities” on the
vertical axis. You do not have to consider both the case of a gain and
the case of a loss.

6. [10 points] Discuss the Travel Cost Method, and one of the difficul-
ties with it.

7. [9 points] Explain and cite examples of the international damages
of sulfur dioxide [not carbon dioxide!] pollution, and how that affects
society’s management of it.
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Figure 1
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